OSmK--- S HEHERSHS g
BT, BTHEESRAR

3 9 S ST AR AT KA
—. WoH. BT 15, 159
1.6 NHF1 8 AM—AfskE ¢ ), 100 2/ ¢ ) MK
240 70 FHARHI AN lE ¢ ) Mo D,
3 ANHENEL O BB 3, ML TR 9, XA R
C Do 445 JFMHE=ER( ), SOFTHM—NELE ¢ Do
5.E6 81 REL &S /MMEH ¢ > . C D L C )
6.36 i ¢ ) AP C D) A

7.0 46 | 47 | 48 51 | 52

. BESHW. (B 1 4r, 547

L= R mE A AL, XA E— 2 AL «C )
2. 44 WAL 4 AL R 4 o BRSO R] . C )
3N INELE: 608 ( )
4. SHOEHHE Az C )
5.47 A1 57 AL EREE A 7. C )

=L k. (R 14y, 3RS
1. 66 FHIPIN“6" AR AR )o

A6 A6 A~—  B. 6T MoeME  Co RaHIEMHA
20 NI AN 8 HUR( ),

A.85 B. 58 C. 80
370 L HIEGRE( ).
A.75 B. 66 C. 71

NS W, T ER, SR THTD
SR IO, ETNEESREAE



OS8R ERNFENERSES  hg

e TE, BIREREESMERIR

4.t6 45 DIFZHIERZ(C ).

A1l B. 96 C. 43
SAMEATAARFE B ).

A23 B. 99 C. 90
., eH A5, 27647, 3/545r, 3520 4)
1. HEESHER.

T4—4= 5+40= 98 —8=

30+8= 83—3= 49—40=

56—50= 60+7= 4+30=
2. () BRI EAIEIHL

©+5=75 30+©=37 73—©=7o

@—40=3 81—©=1 ©+20=24
3. HE—Hk.

50+9  68—8  2+70  44—40  8+30

C >>C > >C ) >C ) >C )
H. E—HE, H—H, 87)

TREEF 5 A= AN ] (1) 2 2

| || || |

( ) ( ) ( ) ( )
7N~ HE 0 ] S ESRAR. (1825, 2845, 36 %)
LA AEE ¢ ), B/NMOBAERE ¢ ).

SRS s, T8 B, BRI
3 IS TH, DUREESHEAR




QSR SENFEHERSES  hit
1T, BAREESHRRE

2 ABLH ) BT B AL % N 2R HES

L. BRI E. (845, L8

NS %G (B4, 384)
1. 4 &MMﬁmzﬁiﬂ

LT/ 9k Wik e,

U |

1

PR B 2042 (TEAE I N ECR T )

20 24 30 60

2. — ARBCEAR8TT, — 1AL
— AR R (gul ) 15 £,

—AREATREZ DT (EAENERECFIE ()”)

6 10 20 50

-

Jus BRI (18575, 487757, HREE6 7, 3£2570)




ORI S HENERSES i
ST, AEREESRERR

1 Sekl—R, fREE &, BER LAY

2. WENFTEG 6 fLZ AT 40 DN AELTEIIES . ATk R
WA

FRafE4s A FEFES0A

3. 25 R B 2 DA ?

240 g )il 5k
4. gk B | sk [é
B 7
EBR

S5 e, ok, ER, ST

X ST, BOREESEAE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

—. 1.68 10 2.69 71
3.39 4.48 79 5.82 83 84
6.3 6 7.49 50 53
“L LN 2x 3x 4N 5
=.1.A 2B 3.C 4A 5B
9. 1.70 45 90 38
80 9 6 67 34
2.70 7 3 43 80 4
3.2470 68—8 50+9 8430 44—40
Fi. KIEE 5 14 23 32
[ MR, 07 5 B 50, M 1A, 47 4 ANl
41, ML 24, 603 Al 32, M3 A, AL 2 el 23,
ML 4AS, AL AR 14, M5 A, PSR 5. (B

FAME—)

75 1.85 50 2.50<<58<<80<C85

. 1.404+3=43 3+40=43
43—3=40 43—40=3
2.34—4=30

N Lo 20 | 24 | 30 | 60

vV

2.1 6 10 | 20 | 50

4 1 — -
oy 0%, Fih, B, BRI

SRS T, DR EESAEAE



OSRG-S FBHERSHES i
ST, AEREESRERR

Jus 10 BE—RERg 38 HIA 3 A, RELE 3 £
2.40+6=46(\)
HREIR R 50 AR
3.40+3=43(1)

4.20+5=25(%) 24<25 AfE

bS e, ik, ES, MR
=Y IS TH, BENEESREE



